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HE D 100
HE 10000
HED 1000
HE D 1000
HED 1000000

lha = 100m x 100m = 10000 m? = 100 a
1km?2 = 1000 m x 1000 m
= 1000000 m? = 10000 a = 100 ha
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12400000 g = 12400 kg = 12.4t
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400cm = 4m ©|E2 4 x 5 = 20(m?),
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@D 330a=3.3ha
® 540000m? = 54 ha

® 1.7km? = 17000 a

@ 20ha = 0.2km?
@6.1 ha = 6100 m?

@ 6.1 ha = 61000 m?
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D 350m? =35a @ 5.6km? = 5600 m?
® 3700a = 3.7ha @ 17t = 1700kg
@23000000 g =23t
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® 350m? =35a

@ 5.6 km? = 5600000 m?
® 3700a = 37ha

@ 17t = 17000 kg
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D 0.75km? @ 100m x 4000 cm
@80000a @ 25ha

® 100 m x 3000 cm
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@ 0.75km? = 75ha

@ 100m x 4000 cm = 4000 m2 = 0.4 ha
3 80000a = 800 ha,

@ 25ha

® 100m x 3000 cm = 3000 m? = 0.3 ha
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9kg —» Dg

300g —» @kg

58t =Qkg=®@g

4600g = 4.6kg = ®t
@ 90000 @ 0.03 ® 53000
@ 58000000 @0.0046

1kg =1000g , 1t = 1000kg , 1t = 1000000 g
@ 9000 @ 0.3 @ 5800 @ 5800000
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220 + 730 + 620 + 290 = 1860( kg)

— 1.86t
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6.5t = 6500 kg
Sk AFAFO] B 6500 + 250 = 26( kg)
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3700000( ) =370( )= 3.7km?

O m?, cm? @ m?, a @mQ, ha
@ ha, m? ® a, ha

1km? = 100 ha = 10000 a = 1000000 m>
THERA] 2 AR m?, ha 9 @®o] HY,




1km? = 100 ha = 10000a = 1000000 m?
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(160 + 260) x 80 + 2 + 360 x 100 + 2
= 34800 m? = 348 a = 0.0348 km?
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700m = 0.7km, 1200m = 1.2km,
300m = 0.3km
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= (0.7+0.3) x 1.2+ 2 = 0.6( km?)
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(380 + 540) X 370 = 2 — (50 + 420) X 160 + 2

170200 — 37600 = 132600( m?) = 13.26( ha)
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4EF D 4660000 cm?

(=89 Hol)= (92 Wol)+(©2 Hol)
=26%x30+2+9%x8+2

=390 + 76 = 466 m?

= 4660000 cm?
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= (4000 — 15 x 250) = 5 = 250 = 5 = 50(7H)
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FAE 2 kg Qu71?

Ao Yol

= 95 x 60 = 5700m? = 57a
12.54t = 12540kg

1a 9] 7] = 12540 + 57 = 220kg




